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Read the following instructions carefully before you begin to answer the questions. This Booklet
contains 100 objective type questions with multiple choice answers both in English and Odia
language. In case of discrepancy in meaning, the English version will prevail.
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INSTRUCTIONS FOR CANDIDATES

gIeigIgel aIesaIR 6T EIaR1

1. This Booklet contains in all 100 questions with objective
multiple choice answers.

2. All questions are compulsory and carry equal mark.

3. Before answering any question, checkup this Booklet and
ensure that it contains 28 pages and no page is missing,
mutilated or repeated. In case of any defect replace it
immediately.

4. The Invigilator shall supply you the bank OMR Answer
Sheet separately. Enter your Roll Number, Question
Booklet Serial Number and Question Booklet Series Code
and darken the corresponding circle/oval provided on left
side of the Answer Sheet carefully by black/blue ball point
pen only. You must write the name, date and center of
examination and put your full signature in the appropriate
spaces provided therein before answering any question.

5. A machine will read the coded information furnished by
you in the OMR Answer Sheet. If the information so
furnished by you are incomplete or different from what
have been given in the application form, you will be
awarded Zero mark.

6. These instructions must be complied with fully failing
which your Answer Sheet will not be evaluated and Zero
mark will be awarded.

7. Answer must be given by completely blackening one of
the four circles/ovals representing the correct answer given
on right side of the Answer Sheet corresponding to the
relevant question number by using Black/Blue ball point
pen only. Answers not shown by black/blue ball point pen
shall not be awarded any mark.

8. Failure to hand over the Answer Sheet to the Invigilator
before leaving the examination hall/room will make you
liable to penal action.

9. Read carefully the instructions of answering each question
before answering it.

10. Answer the questions as quickly and carefully as you can.

Some questions may be easy and others difficult. Don’t
spend too much time on any question.

11. No Rough work has to be done on the OMR Answer

Sheet. Space for rough work has been provided below the
questions wherever needed.

12. You must not carry into the examination hall/ room any

book, mobile phones or electronic devices, printed/hand-
written papers except the Admission Letter.

Failure to comply with any of the above
mstructions will be considered as using unfair means and
action as deemed proper will be taken against the violators.
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GENERAL KNOWLEDGE
1. Which of the following is not a symptom of Malaria?
(A) Sensation of coldness and shivering of body (B) Running of high temperature
(C) Vomiting at times (D) Running nose

QERINYS 625 AUIERARI 6RITR AAE G6F |

(A) 6910 2R 8 28 RITS (B) 69110 19 Q1IGI QL%

(C) QIZ 629 (D) QI9Q A&l 691G

2.“Tehri” Hydro Power Complex has been built on which of the following rivers?

(A) Yamuna (B) Ganga (C) Gomati

60620 LIRNEE AIGIR F6LF F6TIB 60 A1 QUCR FHIE 62IR2T ?
(A) agel (B) Qerl (C) 6019161

*3. Which of the following is not a river of northern India?
(A) Ghagra (B)Kosi (C) Sutlej

G069 gOR 6995 Q81 SIASR 6T 9@l 96a?
(A) Q9 (B) 6218 (C) Aosne

(D) Bhagirathi

(D) @usleelt

(D) Tapti

(D) @19

4. Given below is a column of tribes/races and another column containing names of the places that they
inhabit. Find out the correct answer out of the four options given below showing the correct matching

between them.
SI.No. Tribes S1.No. Places
1. Afridis a. Bangladesh
ii. Bhils b. Belgium
1. Chakma c: Madhya Pradesh
v. Flemings d. Pak-Afghan boarder
(A) 1-a; 11-d; iii-c; 1v-b (B) i-c; 11-d; 1ii-b; iv-a
(C) i-d; ii-c; iii-a; iv-b (D) 1-d; ii-a; iii-c; iv-b

Gg6a 601G AR FRVIG/PRT I9° AR IACH (AR IQARY RIS AINIA FIF FAAAR AT GG

SI6QIT ARQ F1IQ 6A9ERR A0R 6710 oINS AR ARG AR }Q |

@@ QI FERIG/IRNG Qa@ Syl URY

i aIgeq a. QRIS

ii. am b. 6o Gl

iii. oaell c. CRIGESE

iv. e d. JIFAR-ASAFAS QA1
(A) 1-a; 11-d; iii-c; iv-b (B) i~c; ii-d; iii-b; iv-a

(C) 1-d; ii-c; iii-a; iv-b (D) i-d; ii-a; iii-c; iv-b
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GENERAL KNOWLEDGE : —
5. Match the following pairs of sportsperson and the sports he/she is associated with in right order.

1. Rachita Mistry(Panda) i) Cricket |
2. Dillip Tirkey i1) Olympic
3. Pragya Ojha 111) Hockey
4. Bijaya Satpathy 1v) Child Marathon
5. Budhia Singh v) Weight Lifting

(A) 1-1; 2-i; 3-v; 4-iii & 5-iv (B) 14i; 2-ii1; 3-1; 4-v & 5-1v

(O) 14i; 24; 3-iv; 4-iii & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

06 MYS CHRIT 99° 69 AR Q! 6HRR 61 AT OF VIS AR 6RY |

1.9601 Qe i) QERS
2. 3R o i)y 2Rde
3. 9% Bl iii) @@
4. GaQ seaa v)  clagaeee
5. Qe & o %) LU RERAIRS
(A) 14i; 2-ii; 3-v; 4-iii & 5-iv (B) 14ii; 2-iii; 3-i; 4-v & 5-iv
(C) 14ii; 2-i; 3-iv; 4-iii & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

6. Tenzing Norgay conquered the Mount Everest with Edmund Hillary in?
(A) 1943 (B) 1948 (C) 1951 (D) 1953

N9 A9 FRIVIT ATG 66°0E 6T 6R6Q INGAT 6T ZCAIRE FFSR?
(A) 1943 (B) 1948 (C) 1951 (D) 1953

7.Who wrote, “Politicians are the same all over. They promise to build a bridge even when
there’s no river’™?
(A) Maxim Gorkey (B) Nikita Khrushchev ~ (C) Sobha Dey (D) Khuswant Singh

“RIRAICRAISE ATE AANR |1 63CI6R 6aITN 6aIR F2IR @AIg gEYE G213 6aL0I6R 6516E a1 QIE~ @
Q@G @ QL6 ?
(A) QIFA 601G (B) G001 Q681Q (C) 6QIvl 69 (D) Qeee

8. What is the name of the currency used in South Korea?
(A) Euro (B) Krone (C) Dinar (D) Won

QTS 6QIALNER S 6222 QIR FIF @&l ?
(A) g6l (B) 6QI1Q (C) GIQ (D) @I
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GENERAL KNOWLEDGE

9. A satellite is said to be at geostatlonary orbit when-

(A) the period of its rotation is about 72 hours and its height is 56000kms above the sca level
(B) the period of its rotation is about 24 hours and its height is 36000kms above the sea level.

(C) the period of its rotation is about 48 hours and its height is 46000kms above the sea level.
(D) None of these

6ClI6S QBF AAGL FB6IARIAT 2SS 69 AT 69IR 6R6PER6R GRIAR?
(A) 99 QIR 2ISER QIR 72 A9 §9NL° AGQ A6S Ol I2IQ QD! 56000 7 &N |
(B) 43 919 2IGER QIR 24 A4 9 I9° AFQ F6L OIQ 92IQ QLS 36000 B3 2N |

(C) 9% 910 GAR QIR 48 AU 9 NL° AFQ A6 OIQ 921 ALS! 46000 &3 2irg
(D) 6x161G6 gea

Who of the following is not an Odissi dancer?
(A) Sanjukta Panigrahi

QAN B F1RIQ B 641 BEA1 QoY FF1 @ 2l6R 2
(B) Q@2 &R

(A) g2 A8gIaT

(B) Uday Shankar

(C) Sonal Mansingh (D) Kelu Charan Mahapatra

(C) 8RR QURAE (D) 687 998l AIRIAIQ

-Given below is a column of towns/cities and another column containing the industries they are associated.

Find out the correct answer out of the four options given below showing the correct matching between

them.

S1.No. Towns/cities
1. Agra

2. Ahmedabad
3. Bangalore
4. Bhagalpur

5. Cochin

SI.No. Industries

(A) 1-a; 2-b; 3¢; 4-d & 5-¢
(C) 1-d; 2-c; 3-a; 4-b & 5-¢

°opoop

leather
textile
aircraft
silk

ship-building

B) 1-c; 2d; 3-b; 4-a & 5-¢
(D) None of these

Q6Q 641G\ AR AZR/ATR e ARY AR VIl ¥FE ]I JFQ QI FUKIR 2T | 6AURE FIER A0R
67199 IOIRYRI GI” G6R LR FI6QI5 @A FIQ 0K AReT 998 @a |

QAR @Syl

dLV/IR

L.

oA W N

219
ALAIAIQ
QIFIERIR
QUIRIR
6QI5Q

(A) 1-a; 2-b; 3-c; 4-d & 5-¢
(C) 1-d; 2-c; 3-a; 4-b &5-6

Q@ Qs

°© a0 o p

aa

I
65991
QRIRIRIS

a%

QRIRAIR G

B) 1-c; 2-d; 3-b; 4-a & 5-¢
(D) None of these
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12.The Sun Temple of Odisha has been built in the shape of a giant chariot pulled by-
(A) 9 horses and 8 pairs of wheel (B) 7 horses and 11 pairs of wheel
(C) 8 horses and 10 pairs of wheel (D) 7 horses and 12 pairs of wheel

13.

3G4I8 Y4 ARQ 6R6EIT 0 6 214 G8F 65ITN FAIT A2l 2IRIRR F2IR 62X ?
(A) 95 6QIQ G 8 691G R (B) 7% 6@l 8 11 6916 9@
(C) 85 621 8 10 6Q1E R (D) 75 621@1 G 12 6Q1& 0@

The first Indian Railway line opened between Bombay and Thane on-
(A) 9" January, 1852 (B) 18™ April, 1853 (C) 21* May, 1954

geIel QIeG1A 6am €A 965 G 216 FRIER 699 @7 IR CRARSRI ?
(A) 9" January, 1852 (B) 18™ April, 1853 (C) 21* May, 1954

(D) 26™ June, 1955

(D) 26™ June, 1955

14. The Indian Railways, the second largest rail network in the world, handles about-
(A) 70% of passenger & 75% of cargo traffic (B) 75% of passenger & 80% of cargo traffic

15.

16.

(C) 78% of passenger & 85% of cargo traffic (D) None of these

RIRGIL 60R, JULIR T QAL 60F 695ER, 6268 AT AIGT 6 AR AN IAGIRG! 96Q ?

(A) 70% Q191 6 75% AIR (B) 75% 191 8 80% IR
(C) 78% Q1816 85% AR~ (D) 6Q1635 62

Which one of the following statements is incorrect?
The functions of the lungs is to-
1. purify blood.
ii. separate carbon dioxide and water vapour from blood.
iii. Supply oxygen to blood.
1v. supply pure blood to all parts of the body.
(A) only i is incorrect (B) only iii is incorrect  (C) only ii is incorrect

FANYS 699 QBT QR2I6S ?

A FAQ IS QIY 6208 —

i) 028 SedIkIe QAR

ii) Q29 AFIARIF, 8 Q1Y AR KA

iii) Q29 LR ARSI

iv) 4Q1QQ AAIY 2FTQ TEE Q@ AR

(A) 6297 i @R 26T (B) 6@9Riii QR S () 6I9% ii R 2U6E

Who of the following is not a cartoonist? .
(A) R K Laxman (B) Shankar Pillai (C) Amrita Pritam

FARNYYC QIBE C1RIQ @ 968 RIFRY @ 2R ?
(A) 2IQ. 62. R]4 (B) 9 AR (C) &Il gies

(D) only iv is incorrect

(D) 629% iv QR 266

(D) Sudhir Dhar

(D) QI8 R
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1. Sura Pratap Stadium

Panposh Hockey Stadium

Jawaharlal Indoor Stadium

2.
3. Satyabrata Stadium
4.
5.

V.S.S. Stadium
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GENERAL KNOWLEDGE

17. Match the following pairs of stadium and its location.

1) Cuttack
1i1) Rourkela

v) Cuttack

(A) 14; 2-ii; 3-v; 4-iii & 5-iv
(C) 1-i1; 24iii; 3-i; 4-v & 5-iv

ii) Dhenkanal

1v) Sambalpur

(B) 1-ii; 2ii; 3-i; 4-iv & 5-v
(D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

Q4 RYS UG 9e° 918 096 691 Cleg O] QI6E ARIR R |

1. gageld e i) 20Q

2. Q6 9@ |UPAN ii) 6QFIRIR
3. ANYL RUGAL| iil) AURVEXR
4. GQITRRIN RERIQ VIS iv) AR

5. @242 S V) @6Q

(A) 1-1; 2-i1; 3-v; 4-iii & 5-iv
(C) 1-i1; 2-iii; 3-1; 4-v & 5-1v

(B) 1-ii; 2-iii; 3-i; 4-iv & 5-v

(D) 1-1v; 2-ii

1; 34; 4-v & 5-ii

18. Mother Teresa, the first non-Indian, who got Nobel Prize in 1979 and Bharat Ratna in 1980 was born in?

(A) Czechoslovakia

(B) Zurich

(C) Kolkata

(D) Albania

geIe1 2 VUKSTD, F19Q 66604, AILIG 1979 ARLIER 6FI6TR YAIQ 96 1980 68 VNG 9@ TR
FAAIRYRI, 62 62A0I6Q ¥ F26 FALYER ?

(A) 696QI6QIQu&2

(B) ga®

(C) *RRQ!

(D) aIRQIFel

19. Rajtarangini, composed by the famous Indian poetess Kalhana gives a vivid history of?

gda QI @D ARLR QORI RAQ ‘QURCARTEIT 692 QINYR &

(A) Kashmir

(A) QI

(B) Himachal Pradesh

(B) 19R 9694l

(C) Rajsthan

(C) Qedgie

20. For which sports is Val Barker Cup awarded in the Olympic Games?

(A) Swimming

(B) Boxing

2ARFR 6HRER 6292 AR IR FIFR K€ FSUILIRIN ?

(A) aLal

(B) @34

(C) Long Jump

(C) a& 8%

(D) Haryana

AF ELIQ 2697
(D) @RI

(D) High Jump

(D) 210 &6t
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GENERAL KNOWLEDGE -~
21. Which of the following statements about Kalpana Chawla is false?
(A) She was an Indian born Russian cosmonaut and Engineer.
(B) She went to space in space shuttle Columbia on a 16-days voyage in 1997.
(C) She along with crew of six others was killed on 1* February, 2003 while landing in the second voyage

of Columbia.
(D) None of these

AR EMIT FIA6Q Y AYE 699 ABE QR 267

(A) 69 Q68 QURG GE Q1K AIRIZIRIG QAIFT G AR Y6M |

(B) 1997 A1d2I6Q 9@ 16 @2 AIQIER AIZIRIY AP RAIER ALIRIHF QIS KELI6R |

(€) 2003 A1QQI 621 1 GIGE G2 6RSRIAZI LIRS F1E ARG AIGQ TG 6TQEISI 696 TR 6 K€
QA2 AT ATE QY QS RAL6M |

(D) 619135 OR g6%

22. Which of the following is not a Painter? '
(A) Satish Gujral (B) Amrita Shergill (C) Jamini Roy (D) Begam Akhtar

AINYE MIBE I @9 968 TGRIQ | 2JER ?
(A) 2016 GGAIR (B) 2¢J61 6Q0R (C) 1621 Quet (D) 6Q0I€1 2RI

23. Muslim League was formed at Dacca on 31 December, 1906 by-
(A) Nawab Salimullah Khan (B) Zulfquar Alli Bhutto
(C) Mohammad Alli Jinah (D) Khan Abdul Gaffar Khan

@629 31, 1906 AId2I6Q 96 RS AILFIR 60 CINYRI ?
(A) 9919 AR AR HIQ B) IR TG 2R RES!
(C) F129S 2R1 Gl D) 8lie 2R AT MK

24. Bharatiya Gyanapith Award was founded by the noted industrialist Shanti Bhusan Jain in the year-
(A) 1944 (B) 1950 (C) 1956 (D) 1962

HHSRIAN FFAT 613 QTSI 656 60Q 1TLIER VRGIL KIRAT0 JAIQ 9Fa SR2eR?
(A) 1944 (B) 1950 (C) 1956 (D) 1962

25.Which of the following series of countries of the world has been arranged in sequence of bigger to smaller
in terms of geographical area?
(A) Russia, Canada, United States : (B) Russia, China, Brazil
(C) United States, Canada, Russia (D) Canada, China, Russia

6RTRR 6ARTR AQAIN FECIB 60E 606 2AGFAT AR 9@ IR AR ARZIF?
- (A) @921, QRIG, 2R (B) @82l 912, 9IGR
(C) 216910Q1, IR, 82l (D) QQIel, 91R, @8l
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28.Which of the following is the most populous states of India as per 2011 Census?
(C) Bihar

GENERAL KNOWLEDGE
26.The UNO was established on 24® October, 1945 with delegates from —

(A) 35 countries (B) 40 countries

(C) 45 countries

GK00000013 / A / Page 9 of 28

(D) 50 countries

1945 Q21 26QYIR 24 GIAE T 6R6RIT 62910 GEFuIG 6oa FiFe 215 a°Q 606 cLIReRI ?
(A) 35 countries (B) 40 countries

(C) 45 countries

The temple of Lord Nilamadhav built in replica of the Jagannath Temple is located in-
(A) Koraput

(B) Nayagarh

(C) Keonjhar

RRARIYER F1TQ AT SCRIL AR 2GR 62R016a 2eAITE ?

(A) 621U

(B) @2l91@

(A) Uttar Pradesh (B) Maharastra

(C) 699%Q

2011 @8l 98191 AgQIT BEQIB 609 AURE A FRIR 2667

29.

30.

(A) Q@9 9694

(B) Q12IQIL

(C) faia

(D) Kantilo

(D) @46ml

(D) 50 countries

(D) West Bengal

(D) 98iq1 Qg

The first charter of English liberties for barons, church and common men was signed by King JohnlII in-
(A) 1215

(B) 1218

(C) 1221

(D) 1225

699R, 90 Y° ARIGE RIS AIR 554 WYAIQ JeF AGR AR @R-11 669 YT K26 ?
(A) 1215

(B) 1218

(C) 1221

(D) 1225

Given below are names of Industries/Research centre in one column and names of the places of their
location in the other. Find out the pair which mismatches.
S1.No. Industry/Research centre

S Ay 3 R e

(A) SI. No.1

Indian Veterinary Research Institute
Indian Institute of Virology

Indian Institute of Sugarcane Research
National Sugar Institute

. National Defence College

(B) SI.No.2

Place
Izatnagar
Bengaluru
Lucknow
Kolkata
New Delhi
(C) S1.No.3

(D) SL.No.5

R96Q 605 2ACR FF/FIERTEI 6015 1a° URY AER BIQ AR QIF FALRT | QRYS 699 6QET 2A6aRR

6298 OIq 09 A |
@ d°Hl FERQ A6ISI/
1. QUAGIL AY A6V GG
2. QAR ROIE| F6QTEI GoIIR
3. QAR 2lIF F6QVS YEIIR
4, PO GG goale
5. QA ORI LIRS,

(A) SI. No.1 (B) S1.No.2

Qe
AR
6RTIRQ
)
ARG
Q2 AR1

(C) SI.No.3

(D) SL.No.5
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GENERAL KNOWLEDGE ~
31.°NRI’ Day is observed on which of the following days?
(A) 7" January (B) 8" January (C) 9™ January (D) 10® January

Q. 2I0.2IR. G RS 629 GIANER AIRE SR ?

(A) 7" January (B) 8" January (C) 9* January (D) 10" January
32. The Dronacharya Award is associated with-

(A) Eminent surgeons (B) famous artistes

(C) Sports coaches (D) expert engineers

6QISISIY AR F6TB RIel ATC GGG 21687

(A) ISR AS] (B) 9d® eRIQIa
(C) 621 621Q : (D) @9 21
33. Who of the following wrote the prayer “Ahe Dyamaya Biswa Bihari™?
(A) Madhusudan Rao (B) Madhusudan Dash
(C) Gouri Shanakar Ray (D) Ramakrushna Nanda

“2lee QoI A9 79 FIal” 9@ giUiaIF §¢ RYE 699 AT Y g6R?
(A) FRYQIR QU8 (B) F1J9ee @IQ
(C) 6918 QUL (D) QIF1 QB QR

34. What is the official language of Meghalaya?
(A) Roman (B) English (C) Miyji (D) Mishmi

6CIRAR AR QU @ &1 ?
(A) Qe (B) 2°QIR1 (C) aa@ » (D) aad

35. Which of the following rivers divides Odisha and West Bengal?
(A) Baitarani (B) Budhabalanga (C) Subarnarekha (D) Salandi

Q6D 699 991 6241 Ie° AflF AFg FASE FQAT ?
(A) 650041 (B) 9@ 996" (C) gRe6asl (D) AIRK1

36. Swami Vivekanand represented India in the Wold Congress of religions at Chicago in?
(A) 1893 (B) 1896 (C) 1899 (D) 1903

SRIETNER B9 U AFRR16Q YN FEIRIFR VIQEY 676 YTFQ FALYER ?
(A) 1893 (B) 1896 (C) 1899 (D) 1903
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37. Which of the following constitutional amendments substituted ‘Odisha’ for ‘Oris
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sa’ and ‘Odia’ for

‘Oriya’?
(A) 91* amendment, 2003 (B) 95" amendment, 2010
(C) 93" amendment, 2006 (D) 96™ amendment, 2011

G618 699 AL QCEIIR SR6R Orissa’ § ‘Odisha’ 96° ‘Oriya’ § “Odia’ 68 IALER FQUSR ?

(A) 2003 @ 91071 Q68IRIR - (B) 2010 @ 95091 Qe6dIRIR
(C) 2006 @ 93071 Q°6AIR (D) 2011 @ 96Q¢1 Q68

38. Which of the following is not a fundamental right according to constitution of India?
(A) Right to equality (B) Right to particular freedom
(C) Right against exploitation (D) Right to acquire to property

RURGTR AAUIQ AQAER B¢ RYS AUQ 62T 6T 6F17R ZRRIQ 68 ?
(A) QARG YRR (B) 381 QRIIQS! YRR
(C) 64T F6Q1 2RI (D) Q¢18 260 2R

39. Appearance of periodic warm and saline ocean current in the Pacific Ocean, west of Peru which is

believed to be weakening the monsoon currents over India is called-
(A) Ecliptic (B) Cumulous (C) Kuro Siwo

(D) El Nino

609 629 AElFIEQ gaIe ARANIRLR CRSIIRYSI AFHILQR QY 8 RIS AIF 6316 QIR & ARG

6619011R 9RIag 21 RGN, FIZIQ QI K&l ?
(A)GRR (B) ge6me (C) g61ds

40. Who of the following Odia writer is not a winner of Gyanapitha A ward?

(D) IR Q6%

(A) Sachidanand Routray  (B) Sitakanta Mohapatra (C) Pratibha Ray (D) Manoj Das

Q60D 629 BE2 6RHR RIFAI0 JOIQ UIF 621 QIRIF ?

(A) ATQURR 61T (B) QIRIRIS AQAIG (C) g5l Quel

(D) F6QIe QIQ

41. The world famous Khajuraho temples were built by the kings of which of the following dynasties?

(A) Chandela (B) Chauhan (C) Parmar

F6TIB 699 28R AIRICIEE 79 THIQ SUFAUETI FIRQ FENE FRURLYER ?
(A) Gleam (B) 69l@le (C) IR

42. Which of the following is not a literary creation of Upendra Bhanja?
(A) Labanyabati (B) Premachintamani (C) Chitralekha

Q6 MY 6906 Q6AL VB 601G ATGIS 9T g6% 2
(A) RLEHG1 (B) 69¢1 SUC& (C) Se6ndl

(D) Chalukya

(D) SIpaM

(D) Chandrakala

(D) 956RS!
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43. “Cusec” means-
(A) One cubic foot of water flow per second
(C) One cubic meter of water per second

“QU6Q]” Q 21l —
(A) 6Q6@4€ g& 9@ QRIS 9RIFe aF
(C) 62698 96 9@ AT aF

GK00000013 / A/ Page 12 of 28

(B) One cubic foot of water flow per minute
(D) None of these

(B) 8¢ g6 9@ A9gS gRIZe o
(D) 61635 g68

44. World War-I broke out on November 11 of the year in which the Panama Canal was opened. What is that

year ?
(A) 1910 (B) 1912

(C) 1914

(D) 1918

699 9F Q6RLA 11 68 gaIFl 39 YR 2Ia 62R1 692 ad AIRIFI 621N ACQISR 6ARER | 1T 69Q oF ?

(A) 1910 (B) 1912

(C) 1914

45. Which of the following is not a factor behind the rainfall of a place?
(B) direction of wind and mountain
(D) Forest and warm currents

(A) distance from the north or south pole
(C) Neamess from the sea

6719 QIRER 9l 6291 ARER FELID 629G 63T ARSI §ow?

(A) T691Q QI QEAIQ OIQ 62T AR GRS
(C) AQQ0IQ FRcal

46. Equinoxes occur throughout the globe on-
(A) January, 18 & August, 21
(C) February, 19 & September, 23

NYRRF AN YYLER 6R62 A°F0E 6LIRAIN ?
(A) QIQLIQT RT B 2ASY 9 ©
(C) 6TQAURT R ¢ B 626GFR 9N

47. The Panchpatmali is famous for mining of-
(A) Chromite (B) Bauxite

JBAGTIRT 629 AIQ R6RIFE AR 9T ?
(A) 691919 (B) 99199

(B) 999G 9&° 9eaa &9l
(D) 95R 98° QF 691

(D) 1918

(B) March, 21 & September, 23

(D) None of these

(B) I$ 9@ B 626QR 9N

(D) 651635 g6 |

(C) Graphaite

(C) ITIRg

(D) Dolomite

(D) 6QI6RIAIG
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48. Find out which of the following pairs of books and authors is incorrect.
S1. No. Book Author
Alice in Wonder Land  Lewis Carroll
Abhigyan Shakuntalan Kali Das
Artha Sastra Koutilya
Birds and Beasts Mark Twain
. Borken Wings Arundhati Ray
(A) SI.No.1 (B) S1.No.2 (C) SI.No .3 (D) SLNo.5

N B Lo b

G0 RS L@ 99° GIR 6RYR 641G AR 6RAT QR TR 9R |

Q@ Qe Q@ SREIQ
1. R QR BEa RS QR 6R6aIR
2. ARRIP IGRRE QF QI
3, 2ad a9 6@IGRY
4. am1 6 g g AR 698
5. 69190 Qard ARG QUL
(A) SL.No.1 (B) SL.No.2 (C) SLNo.3 . (D)SLNo5

49. Find out the incorrect one of the following pairs of the great personlaity and his actual name?
(A) Bagha Jatin-Jatin Mukherjee (B) Chandan Hajuri- Chakhi Khuntia
(C) Pathani Samanta-Chandra Sekhar Srichandan (D) Sarala Das- Sidheswar Parida

@7 RYS A9IQ Q1BQ I9° OIF 9YE QIF1 641G AIRT FRIQ 6RAE QR 8 @R |
(A) Q9 Q1R -AS1Q IS (B) 900 292~ oY gl
(C) A0IE QAICR — BF 69%Q F1eRe (D) AR QI — J6RYQ ARG

50. When did Veer Surendra Sai first declare his revolt against the British regime?
(A) 1817 (B) 1827 (C) 1837 (D) 1847

954 SIAe FRAEQ Q10 Y6AKG AN YAUEF 6R6R F6QIR 6QTEI FRIER ?
(A) 1817 (B) 1827 (C) 1837 (D) 1847

51. “Ammeter” is used in aircraft for measuring strength of-
(A) Electric current (B) velocity of wind (C) speed of light (D) None of these

QRIRIZIRER 2IFTR @ LR 98 AITS AN YR FAUKIN?
(A) 6694G% 6gI0 (B) Qlge 96 (C) 2RKA 9G (D) 6016136 g6

52. Who was the first Russian cosmonaut to orbit the Earth in Vostok-I on 12 April, 1961.
(A) Andrian Nicolayev ~ (B) Alexei Leonov (C) Yuri Gagarin (D) Vitaly Sevastyanov

Q3R 69€ F2IRIg A1, 1961 Adel MGR 12 GIR G0 6RI6AR-1 AIF6R JeQ1 FIRAES AR @RI ?
(A) 2EAUS GERRNS  (B) 2I6Rad sRaSRIe  (C) 9o AIGIGR (D) GRIRT 6AQIYIERIQ
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53.‘Dengue’ fever is caused by —
(A) Varicella — Zoster virus (B) Aedes aegypti mosquito
(C) Hepatitis A virus (D) None of these

606 99 Q12 TR PG 621R2UNG?
(A) QUACARI 6QNIR QI (B) NG @&q 4l
(C) 6201562 ‘A’ QIReQ (D) 61635 Q6% |

54. Name the famous battle wherein Rana Pratap was defeated by Mughal Army led by Raja Mansingh.
(A) Battle of Haladighat  (B) Battle of Panipat (C) Battle of Buxar (D) None of these

QR AIFAE 6FPREA AR 634 TR AU FOID 69R HYIGRIFN IRER AL 6LIRYER, GIQ QU @ &2

(A) 2RQIAIC Y= (B) aIfaQ Q& (C) e ga (D) 61635 Q62
55. Adam’s Bridge, a 28-km long bridge of rocks and sand, connects between-

(A) Britain & Switzerland (B) Pakistan and India. -

(C) India and Bangladesh (D) India and Srilanka

d2ia B QINER G2 28 Q.. 6541 SEF 2IGIF TF 69Q 6QFANRF A6 FQE ?

(A) §66Q N9 IREARIE (B) AFYQ 9° UG

(C) QUAG 9e° QIPRICS D) NS IS° IR
56.Who is the brand Ambassador of newly formed Telengana state?

(A) Sania Mirza (B) Saina Nehwal (C) V.V.S Laxman (D) P.V.Sindhu

2600 6PEREA QAN I AQIASR @ ?

(A) QiFel Gl (B) QIR 60628IR (C) @. @92, Y4 (D)a.adg
57.Who presided over the first session of the Indian National Congress?

(A) Womesh Chandra Bannerjee (B) Surendranath Bannerjee

(C) Mahatma Gandhi (D) G K.Gokhale

QING1A FIF1A R°6gAR 2R ZRIEIERER B ARITTQ @Qeem?
(A) Q68 OF 69 (B) 9609R12 629G
(C) Q219Y QIS (D) 64ll, Q. 6SISER



https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

GET IT ON
Google Play

GENERAL KNOWLEDGE

GK00000013 / A / Page 15 of 28

58. Find out which of the following statements of Invention/Discovery, Scientist & Year is incorrect?

SI. No.

el o

(A) SI.No.2

QISR 2ITVIQ, AR 6TRIAR 8 9F TR FaR F6TIS A8 FIF FRIQ 6086 QR C0Q Q9 |

Invention/Discovery

Helicopter
Incandescent Bulb

Scientist
Briquette Brothers
Marry Curie, USA

Improved Power Elevator (lift) Otis and Watson

Laser
Motor Cycle

(B) SI.lNo.3

Q@ Qe QRILE/ 2T

1. 6aRERAQ

2 QAR 6REAEAL R
3. Q20 IR FYS
4. ERER

5 6019Q AIRERRN

(A) QA9 A°§yl- 2

(B) 9% QHyI-3

Gordon Gouid, USA
G.Dainibar, Germany

(C) SI.No 4

65RI10@

5626 9Q4

67101 QYR ISR
659 9Q° GIgaR
IR JRe, 2678
Q. GIRGRQIe, Sie!

(C) 9d@ Q°Hyl-4

59. Who is the chief Executive Officer of the Zilla Parishad?
(A) Project Director, DRDA

(C) Collector

SRl 0GR g8 RAGIAIIL1 2R A 26E?

(A) Q8 F699R, @ 21 & 9

(C) GRIQIR

Year
1909
1879
1852
1957
1885

ad
1909
1879
1852
1957
1885

(B) District Panchayat Officer
(D) Addl. District Magistrate

(B) ORI ABILS AR
(D) 2592 GRIAIR

60. One degree of latitude from Equator measures about-

(A) 100 kms

(B) 105 kms

WEIEQSIOIQ R @91 2R 6 QG| 66 ?

(A) 100 kms (B) 105 kms

(C) 110 kms

(C) 110 kms

(D) SL.No.5

(D) Q6@ Q°@YI-5

(D) None of these

(D) 6416135 g6

61. Which of the following countries are respectively the largest producers of Coal, Iron Ore and Aluminium?
(A) USA, Brazil & Russia

(C) Australia, Australia & Canada

(A) 2I6CRR1, QIGR, @8l
(C) aegRell, 2egRell, QNS

(B) USA, USA & USA
(D) China, China & China

GRS 699 6949 JUFEF 6RAR, RAI VLA B AIPFGAR ATRIS AYCGRIQT ?

(B) 26910, 2ICEIRR, 2R

(D) QI9Q!, SIRGI, FIRR!
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62. Which one of the following statements about human body is incorrect?
(A) Human heart beats 72 times a minute.
(B) The master gland of human body is pituitary.
(C) The number of muscles in human body is 639.
(D) The number of chromosomes in human body is 48 or 24 pairs.

AR 9918 FAER FIRYS 629 23T 9R ?
(A) Q68 9o FFORER 72 2R LR 621N
- (B) dgeIR1FIee Q10 AR Qe 26T |
(0) FIRR JQIAER DN AIPACAS! 2 |
(D) FI9Q SRIQER ¥ Al 9% 621G GELIERIA 2T |

63. The length of Odisha coast is about-
(A) 480kms (B) 580kms (C) 680kms (D) 780kms

6E4I6Q g AQ QAR G4 6960 7
(A) 480kms (B) 580kms (C) 680kms (D) 780kms

64. Universities in India were first established at Kolkata, Bombay and Madras in the year.
(A) 1877 (B) 1867 , (C) 1857 (D) 1847

ARRGI, 96¢] IS° AIGIFER Je6r TR 699 oF ATS cRYR ?
(A) 1877 (B) 1867 (C) 1857 (D) 1847

65. Which of the following statements is incorrect?
(A) Brass is an alloy of Copper & Zinc
(B) Stainless steel is the alloy of chromium, nickel, iron and manganese
(C) Bronze is an alloy of tin and copper
(D) None of these

FINYC 609 23T g ?

(A) ToR 09l 6 QIR FgIQ

(B) faae Qe 6qIfge, Feam, Rl G AIFIGER agIg
(C) 691&1 G681 B eqIQ AguIQ

(D) 6916135 6%

66. The year 1920 is not associated with which of the following events?
(A) Non-cooperation Movement (B) Bal Gangadhar Tilak Passes away
(C) Indian Red Cross Society set up (D) Azad Hind fouz formed >

1920 (132! F6QIB 699 ASSISR ATG AR G627
(A) 2QALEQG SRR ' (B) SR ATRIQ FRRE S
(C) VUL 602 9 6QIARST AITR (D) 2NN L TG 0L
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67. Which of the following is not a literary creation of Gangadhar Meher? -
(A) Pranayaballari (B) Chilika (C) Tapaswini (D) Indumati

39 A 6298 @@ FETIA 6¢162as ATHIR Q] 962 ?
(A) 9I9I9RA1 (B) OR! (C) eaga1 (D) 201G

68. The machine used for recording the electric current passing through the brain to determine brain disease is
called?
(A) Electrometer  (B) Electrocardiogram  (C) Electroencephalograph (D) None of these

619 GFIRS AP gAY AFAQ 6FQIGR 6215 FITRI AIN 62X AFF MR FRIAN ?
(A) R6R6R 560 (B) R6meQ@IG8gI1  (C) R6R6Ql IR 6QTIERIGIL (D) 691685 Qe

69. The crust of earth has the following percentage of Oxygen.
(A) 49.85% (B) 59.95% (C) 69.05% (D) None of these

eIQ1 YIER 6060 Jo9Ie ACRIR 2T?
(A) 49.85% (B) 59.95% (C) 69.05% (D) None of these

70. The national anthem, ‘Jana, gana, mana’, composed by Ravindranath Tagore was first sung at the Calcutta
session of Indian National Congress on-
(A) 27" October, 1916 (B) 27" November, 1928
(C) 26™ January, 1938 (D) 27" December, 1911

QR1RRI2 OIGER IRl Q56 FIF1A ARG ‘@R, 99, I 2R AINR’ AUAG1A FIF1A A°6FAR ARG
2RIEIERER FEI6TT 6T G0 CIR RQARLRI?

(A) 27" October, 1916 (B) 27" November, 1928
(C) 26" January, 1938 (D) 27™ December, 1911

71. What percentage of Manganese is available in Odisha in comparison to all India reserve?
(A) 30% (B) 32% (C) 34% (D) 36%

QUAGER IFR gal AIFIFR FRFIER 659160 6968 YBE9 AFIFR 2T ?
(A) 30% (B) 32% (C) 34% (D) 36%



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

GENERAL KNOWLEDGE

GK00000013 / A / Page 18 nf 28

~

72. Given below is a column of places and another column containing brief statements of their importance
Find out the correct answer out of the four options given below showing the correct matching betweer

them.
SI.No. Terms
1. Amarkantak
. Abadon, Iran
1ii. Baku, Azerbaijan
v Cotopaxi

Ry Ry N AR
(C) i-a; 11-c; 11i-b; & iv-d

S1.No. Meanings

B 0, oD

(B) ic; 1i-d; 11i-a & iv-b
(D) id; ii-a; iii-c; & iv-b

source of Narmada and Tapti in Madhya Pradesh
active volcano in the Andes mountains
noted for petroleum

noted for oil refinery

QI6Q @ BA6A AIR FITA QIF B AMTER CAAFTR F6aTR FAUARAT | 6ATNRE F1RI6R AR 6717
ARSI @I’ P6R YR Q16T @RQ FIQ O] 2RAT 998 @ |

L. 40l
1) 2FR4R
1) 2INeR, QIR
iii) QI LRI
iv) 696G

(A) i-a; ii-d; iii-c; & iv-b
(C) i-a; 11-c; iii-b; & iv-d

Q8. Gesae

a) CRIGERIER IQ @6ial 8 QI 91 QGRS
b) 2188 A9 FIRIA Q192 LT
c) 6968IRAE AR 988

d) 660 JedRITR IR 988

73. The average depth of the oceans on earth is-

(B) i-c; ii-d; iii-a & iv-b
(D) i-d; ii-a; iii-c; & iv-b

(A) 5.5 kms (B) 4.4 kms (C) 3.5 kms (D) 2.3 kms
M6 QI AYQ lER LAY IRN1QG! 6962 ?
(A) 5.5 kms (B) 4.4 kms (C) 3.5 kms (D) 2.3 kms
74. Pick out the incorrect one of the following pairs of important year and events.
SI.No. Year Event
1. 1940 Mohmed Ali Jina demands separate statehood for Pakistan.
2. 1942 8" August, Quit India Resolution
3. 1943 21* Oct, INA organised by Subhas Chandra Bose
4, 1950 November 26, Constitution of India adopted.
(A) S1.No. 1 (B) S1.No. 2 (C) S1.No. 3 (D) SI.No. 4

Golea GeIRIReRl geaad @f e 6an 988 A0S ATEINRIA 6AIE AIRE 6296 gR 996 KA |

-

QA Qogl o8

1 1940

2 1942

3 1943

4 1950
(A) SI.No. 1

A N

127 AR G0l AIFACY 403 9699 Q17 Qa3
20Y 8, VAG IR FIIQE!

AEQYAR 21, QI8 99 6218 INA L08R K02
QEAIR 26, VAL AL AF IR SRR

(B) S1.No. 2

(C) SL.No. 3

(D) SI.No. 4
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75. Which of the following pairs of disease and the affected part of human body is incorrect?

SI.No. Disease Part of human body

1. Asthma a. bronchial muscles

1i. Diabetes b. pancreas

1il. Encephalitis  c. thyroid gland

1v. Goitre d. brain
(A) Only 1 & ii are incorrect (B) Only 11 is incorrect
(C) Only iii & iv are incorrect (D) only iv is incorrect

FARYS AIRS SR1RR 2T 6 FIg AT KRR 6AUTR 6P AT TRIQ 62X QR 26T ?

e, 6qugl 109 e
i. agel 6]IQ12IR F1I°AAS!
ii. RYEAD 25 618
iii. IQEATIRIRG 2IREAINE 621
iv. RIS g,
(A) 629R1 Bii @R (B) 6294 il @R (C) 62e@iii Biv @@ (D) 629% iv @m .

76. The Equator does not pass through which of the following countries?
(A) Indonesia (B) Mexico (C) Brazil (D) Columbia

JYR6aS! F6I2 629 606 69R ATFE FARIE ?
(A) Rs8leadal (B) 661569 (C) 9IGw (D) @Al

77. Which of the following statements on Prime Meredian is correct?
(A) It is the Meridian from which longitude is measured.
(B) O’ degree longitude is measured from here. _
(C) It passes through Greenwich near London which had once a famous observatory.
(D) All of these

QIRe] 65160E2I] FEER F67)IR 602 Q@6 O] 098 9 |

(A) 21 6208 67160G2IR 6QR0IQ QIAAI AAIAN |

(B) 0IQ g2 @91 QIAAN AN |

(C) Y2l REL 709 JIFANS 6QR ABFE F6Q 699 0168 Y9G 6615 938 2RIAERETIAT &R |
(D) 9% 2912 @@ O |

78.Indian-borm Hargovind Khorana got Nobel Prize for his work on Genetic Code in the year?
(A) 1962 (B) 1964 (C) 1966 (D) 1968

QAGER BGS AECITQ CHIAIR| 6RERTR 6R1E RUCR GIF QIFT AR 69R Y 6RI69R JOAA JIT 6RER ?
(A) RC99 (B) € ¢ 9% (C) 99 (D) e ¢or

79. On which of the following dates the day at Arctic Circle is of 24 hours duration?
(A) June, 21 (B) May, 22 (C) April, 23 (D) June, 22

FIRYE 629 GIAHER AIFZR FROIBA GF 9% A 62IR2AN?
(A) June, 21 (B) May, 22 (C) April, 23 (D) June, 22
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80. Arrange the names of the following Indian Presidents in order of their incumbency.
SI.No. Name
1. Dr. Rajendra Prasad
2. Dr.S Radhakrishnan
3. Dr.Zakir Hussain
4. Sjt.V.V.Giri
5. Fakhruddin Alli Ahmed
(A)1,3,4,2&5 B)1,2,4,3&5 (©)1,2,3,4&5 D)2,1,3,4&5

e QUL AFAL AIRETR AFIBIER g A1 AQQEIER AR EMG |

e d
Q.e. QI
1. @. QUERY g4l
2. @. Q. QRIGES
3. @. 96 2620
4. g19e @. &. 9a
5. TIRER AR 2ALAS
(A)1,3,4,2&5 B)1,2,4,3&5 (0)1,2,3,4&5 (D)2,1,3;4&5
81. Which of the following countries are respectively the largest producers of tea, wheat and wool?
(A) China, Bangladesh, UK (B) India, Thailand, Russia
(C) India, China, Australia (D) Bangladesh, Malaysia, USA

FARYE 699 624 ARUFES Gl, G2F1 8 AR | ATLQ QYT ?
(A) QIRR, APRIEQY, NS (B) @10, dionis, aFell
(C) QIe, SIaql, aegmell (D) QrRIsR4, CleRI2l, SIEaal

82.*Bharat Nirman Yojana’ is intended for the development of which of the following?
(A) Urban infrastructure (B) Rural Infrastructure
(C) Bridges and roads (D) Information technology

QURe Gl 6QIFR FIRYE 60ATH TS IRl ARG ?

(A) Q20 @@ @ (B) giclgR @@ @
(C) saim B Qual (D) Qoel elam
83. The normal temperature in the body of human beings is?
(A) 37.2 degree centigrade (B) 39.2 degree centigrade
(C) 37.4 degree centigrade (D) 39.4 degree centigrade

193 AN ARIQS! FIAANGI 6RES ?

(A) 37.2 degree centigrade (B) 39.2 degree centigrade
(C) 37.4 degree centigrade (D) 39.4 degree centigrade
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Which of the following is not a measure of prevention of Smallpox?
A) Isolation of patient till the last crust of rashes separate

B) Disinfection of premises

C) Destruction of sputum

D) Cleaning patients’ clothing in washing machine

GRS 6905 A2 61T YFEAUIR R4 §6S |

(A) 6TISRIR 6HIRAI BIGR 669 6291 ANIS 6QITF ARG QYS!
(B) 998014] 952°qde @aa!

(C) 9F10Q 9% *AS

(D) 6Q191Q REIACI] GIT° 6713] 6Q AT FAQ!

In 1907, the Indian National Congress split into moderates and extremist on selection of President at Surat
Session. Who was elected President with support of the moderates?
(A) A.O.Hume (B) M.K.Gandhi (C) Rash Bihari Bose (D) Bipin Chandra Paul

JRIG ARYELIFER ARIAT FRIeag 699 1907 AALIER AURG1A FIVIN R°6FQ FANAR] IQ° GRANR! AR
QR QUG CARIYR| | 6AF AYERFFER FRNCAIE AAGIER @ ARG @éj@@ 6RIR2JER ?
(A) "% 8. G491 (B) 6419, QIS (C) QU8 R 621N (D) S0 09 IR

The highest waterfall that measures about 1000 meters and is located in Venezuela is called-
(A) Tugela (B) Jog Fall (C) Angel (D) Cuquenan

QERGIIMIER 2Ia90 AP R4l ITIQ QRS g1 R0 oo FIgQ, QAR FICT 261 ?

(A) goRl (B) @9 o (C) 968 (D) Q692R
Neil Armstrong, the first American astronaut, set foot on the moon on-

(A) 21* July, 1857 (B) 13" September, 1959

(C) 20™ August, 1858 (D) 18™ October, 1961

geIel 2I6aR1Ia FRIgRY I, 68R I, 691 @7 999F6a IR AYLER?

(A) 21° July, 1857 (B) 13" September, 1959
(C) 20™ August, 1858 (D) 18" October, 1961

Which of the following is not a rule of hoisting the Indian national flag?

(A) The saffron colour band should always be at the top.

(B) No flag or emblem should be placed above or to the left of the national flag.
(C) While marching it should be held on the right or in the centre

(D) It can be taken down on the next day morning of hoisting.

FOIRYG 6296 AIGTA FIC1N ISR AERIRE FARIA 9@ §) 964 ?

(A) IRER 2°¢ AQUEER QUG QLR QPR |

(B) 294 651613 Q0IQI Q1 991X RIS14 AGIRl AU6Q A9l QIF AI] Q@RI F6MH §6% |
(C) AI5T AAN6Q gl GIIEg Aql A86a 0Eal /TG |

(D) Q6RIRFQ ISR T2 ARG I2IQ 2ALFAS FAULR AIER |
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GENERAL KNOWLEDGE -
89. Which place is known as the Kashmir of Odisha?
(A) Deomali (B) Daringbadi (C) Saptasajjya (D) Satakoshia

&9 RYE 602 AT 6EHIR FIY1R S 9 ?
(A) 6Q6AIR (B) Q@I (C) Qg (D) AILERAS2

90. Match the following pairs of Award and its founder ?

1. Kalinga Award 1) Harekrushna Mahatab

2. Bisuba Samman 11) Biju Pattanaik

3. Atibadi Jagannath Das ii1) Sambalpur University

4. Gangadhar National Award iv) Srujani

5. Guru Kelucharan Award v) Odia Sahitya Academy

(A) 1-ii; 2-1; 3-v; 4-iii & 5-iv (B) 1-iv; 2-iii; 3-i; 4-ii & 5-v
(C) 1-ii; 24; 3-iv; 4-iii & 5-v (D) 1-1v; 2-iii; 3-1; 4-v & 5-ii

&4 RS FARIQ NS° QIR JOUIG 621G §EY 69 @al |

1. @F6 9o i) 26QQ¢ A2
2. 5gQ QR ii) 99 9eRI9R
3. 2PQC 92 QI1Q iii) AYRYR FREQIG
4. IFRIQ RIS QRIS iv) @&
5. 9Q 6aqeas g v) 652 AITGY IRIE
(A) 1-ii; 2-i; 3-v; 4-iii & 5-iv (B) 1-iv; 2-iii; 3i; 4-ii & 5-v
(C) 1-i1; 24; 3-iv; 4-iii & 5-v (D) 1-iv; 2-ii1; 3-1; 4-v & 5-ii
91. The Chief Justice of Odisha High Court is appointed by-
(A) The Govemnor of Odisha (B) The Prime Minister
(C) The Chief Justice of Supreme Court (D) The President of India

604l ARERITR IHY TIRAT QT FIal FYD gUE ?
(A) BGEIQ QUSYAIR (B) Qulie 91911

(C) 989 6R1Sa oty Golead (D) Q109K QILAF

92. When Odisha became a separate state on 1% April, 1936, the number of districts was-
(A) Five (B) Six (C) Seven (D) Thirteen

00N AAIER 6AETEIER BB IR IOT QURY 62R, 6 ANAER BFHISR 6RETESIT FRI ARI?
(A) 8 (B) ® €7 (D) 13
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93. Pick out the incorrect one of the following pairs of important year and the event that occurred in it-

SI.No. Year
1. 1576
2. 1757
3. 1761
4. 1764
(A) SI.No. 1

Qi@ Q°GI

AW N =

(A) SI.No. 1

Event

Battle of Haldighat
June-23, Battle of Plassey
Third Battle of Panipath
October 22, Battle of Buxar

(B) SLNo. 2 (C) SL.No. 3

ed A
1576 2RA1AIS Y&
1757 Qe 23, ARSI YR
1761 29I I Y&
1764 26QYIR 22, QIR YR
(B) SL.No. 2 (C) SL.No. 3

94. Find out which of the following pairs of books and authors is incorrect.

SI. No.

AR o

(A) SLNo.1

Qele Q°stl

Ak S

(A) SL.No.1

Book Author
Dr. Jekyll and Mr. Hybe R.L Stevensom

5™ Column R. Nest Hemigway

Gita Gobinda Jaydev

Godaan Muni Prem Chand

The Guide Mulk Raj Anand
(B) SI.No.3

(C) SI.No.5

70 RYE 2R 99° QIR 6RYIR 6QE TRIP 99T YR CUR KA |

Qg Smel@
QIR 66 28 R TR 2 IR F6wede
age ea 2lead 6edier
Q1S 6QIRQ RACQ
6QlQI ed 6grele
Q AR@ RIS e

(B) SI.No.3 (C) SINo.5

(D) None

@60 g9oa geQ 94 oF ¥e° 639 990 A°900 ASHIRR1R 641G FIRE 6996 R 9L @A |

(D) 619135 Q6%

(D) S.No.4

(D) S1.No.4
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95. Given below is a column of towns/cities and another column containing names of the industries they are
associated. Find out the correct answer out of the four options given below showing the correct matching

between them.
S1.No. Towns/cities SI.No. Industries
1. Dhariwal a. tobacco
2. Guntur b. woollen goods
3. Jalandhar c. diamonds
4. Katni d. cement
5. Kimberley e. sports goods
(A) 1-a; 2-b; 3-c; 4-d & 5-¢ B) 1-c; 2-d; 3-b; 4-a & 5-¢

(O 1d; 2-¢; 3-a;4-b & 5-¢ (D) 1-b; 2-a; 3-¢; 4-d & 5-¢

SC16Q 66115 AR ARV/ATNR FIFT 9&° R 26 G2l 938 RIL @8Rl Jga QIa AR 2T | QIR
6QR6 6AIR 629 2T P9F @9 |

QAR eyl ALR/Q9R Q@ QeI &a
1. UGN a. S
2. a8 b. am A1
3. FRAN c. iy
4. =3 d. aeag
5 aqeR e. 621G QA1
(A) 1-a; 2-b; 3-c; 4-d & 5-¢ (B) 1<; 2-d; 3-b; 4-a & 5-¢

(C)1d; 2«;3-a;4-b &5 (D) 1-b; 2-a; 3-e; 4-d & 5-¢

96. Pick out the incorrect pair of the important year and the event that occurred in it from the following-

SI.No. Year Event
1. 569AD Birth of Prophet Mohammad at Macca
2. 1215 Magna Charta signed by King John-II
3. 1494 Columbus discovered America
4. 1498 Vasco da Gama discovered sea route to India
A) S1.No. 3 (B) S1.No. 2 (C)SI.No. 1 (D) None of these

daea Qaidegl goe 94 o ¥e° 629 98a 2°006 ATSINRIA 6AIF AIRFIIIQ 6890 O YR QR |

Q@ 6§y e ASSIRT

1. 569 AD CIRUEQ YETT CIRHQ & 8F

2. 1215 QR @Q-11 QIS QT AR AV KO3

3. 1494 PRI 2R AR PRS-

4. 1498 QUSARIFIA VAURSF AFG Qe 2ITAQ 603

A) SI.No. 3 (B) S1.No. 2 (©) SI.No. 1 (D) 616135 ?L€§
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98. Which of the following rivers does not flow into the Bay of Bengal?
(A) Godavari

99. Odisha became a part of British empire during the reign of-
(A) Warren Hastings

100. The first Odisha Legislative Assembly met in Ravenshaw College Hall at Cuttack on-
(C) 25™ June, 1937

BE9IQ JeIFl ARLIS SIAR @ glem?
(A) ARIAG — &2 QB
(C) /IR QU4

F601IR 699 91T 9°69IT AITRER FF Q1@ ?
(A) 69lIGIR1

QLA IR FRER BEE GTE AR 2°E 6LRI?
(A) @lsag 6239

(A) 25™ July, 1936

Jae! BEEI RURAR 6509 FER TG 6QEAQI RS, INER ERES 2GS 6TRAR! ?

(A) 25" July, 1936 (C) 25® June, 1937

GENERAL KNOWLEDGE

97. Who was the first muslim ruler of Odisha?
(A) Allaud-din Baktiya
(C) Subiman Karrani

(B) Mahammad Sayeed
(D) Qutab-ud-din Aibak

(B) F1291Q SQ1Q
(D) 9O-2Q-GR-AIRAIR

(B) Krishna (C) Cauvery

(C) Q699!

(B) Lord Cornwallis (C) William Bentick

(B) R @4a@IRa (C) eaReR 699]

(B) 28™ July, 1937

(B) 28" July, 1937

GK00000013 / A / Page 25 of 28

(D) None of these

(D) 6Q1613G gew

(D) Lord Wellesly -

(D) RS 63RERIR

(D) 28" June, 1937

(D) 28" June, 1937
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